
Formelblatt

Vektor-Identitäten

~A · (~B × ~C) = ~B · ( ~C × ~A) = ~C · (~A × ~B)
~A × (~B × ~C) = (~A · ~C)~B − (~A · ~B) ~C

(~A × ~B) · ( ~C × ~D) = (~A · ~C)(~B · ~D) − (~A · ~D)(~B · ~C)

∇ × ∇φ = 0

∇ · (∇ × ~A) = 0

∇ × (∇ × ~A) = ∇(∇ · ~A) − ∇2 ~A

∇ · (ψ~A) = ~A · ∇ψ + ψ∇ · ~A
∇ × (ψ~A) = ∇ψ × ~A + ψ∇ × ~A
∇(~A · ~B) = (~A · ∇)~B + (~B · ∇)~A + ~A × (∇ × ~B) + ~B × (∇ × ~A)

∇ · (~A × ~B) = ~B · (∇ × A) − ~A · (∇ × B)

∇ × (~A × ~B) = ~A(∇ · ~B) − ~B(∇ · ~A) + (~B · ∇)~A − (~A · ∇)~B

Differential-Operatoren

Kartesische Koordinaten (x1, x2, x3):
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Zylinderkoordinaten (r, φ, z):
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Kugelkoordinaten (r, θ, φ):
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Kugelflächenfunktionen

Das Koordinatensystem:

x = r sin θ cos φ

y = r sin θ sin φ

z = r cos θ

Die Yl,m für l = 0, 1, 2 sind:
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Die assozierten Legendre-Polynome für l = 0, 1, 2 sind:
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